EE% B |F>N—h—FK [&FR &irh+ F—L% Finish(Z’ B X &4 L) [Finish(Fv b &A1 L)
8.2kmSBE T 1 8042(pkM Ft WLV 0:26:40 0:26:38
8.2kmSBE T 2 8001(db#k #t N R VA 0:26:44 0:26:41
8.2km&B ¥ 3 8084[3EH HfERE  |vAX 9% 0:27:00 0:26:57
8.2kmSBE T 4 8064| K% & VANED] 0:27:17 0:27:15
8.2kmBE T 5 8038|m/Il  JTHk 1707 Eb7% |ZZB AR 0:27:26 0:27:23
8.2kmBE T 6 8060|=E B2 Ah7 knai¥ 0:28:36 0:28:33
8.2kmSBE T 7 8048(E L, ¥ A7 9k 0:28:51 0:28:48
8.2kmBE T 8 8067|HF K 840 4 47 0:29:13 0:29:11
8.2kmE T 9 8002(#RJII  %9%k 7407 MY 0:30:02 0:29:59
8.2kmSBE T 10 8030|AM A 47 7%/7 | ANMEITHIIEAETREK |0:31:30 0:31:26
8.2kmBE T 11 8081|Fi R B kB TR0 0:31:48 0:31:45
8.2kmBE T 12 8061|FIE &K FAT P 0:31:55 0:31:51
8.2kmSBE T 13 8029|/hHS B Thh7 7338 | AEHEBE/AFER 0:32:00 0:31:56
8.2kmBE T 14 8033|HF [EiE IVEYN HASHF—F v |0:32:13 0:32:10
8.2kmBE T 15 8045|:)Il  #hHIE 1vh7 19% 0:32:52 0:32:47
8.2kmSBE T 16 8063|/1\Il ¥t Ly AUR VAL 0:33:48 0:33:44
8.2kmBE T 17 8088|HH B&1T EV NP VR 0:35:11 0:35:06
8.2kmE T 18 8028|#HL Ih— FHT A94F UNETIS=2% 0:35:21 0:35:16
8.2kmBE T 19 8053[dLiR  FOfc 44 7 A % 0:35:25 0:35:21
8.2kmBE T 20 8027|&H /Il MK W7 3984 HAF/INFER 0:36:15 0:36:10
8.2kmBE T 21 8041|E+F & [4y3 va9y INVZIv=v 4 0:36:41 0:36:35
8.2kmEB ¥ 22 8031|/@H HEX 795 19% ABEETFHHE 0:37:10 0:37:05
8.2kmBE T 23 8083|#5 AR MK AX ¥ 194 0:38:21 0:38:15
8.2km&BE T 24 8071|HKN Fis 293 b7 % 0:38:52 0:38:46
8.2kmSBE T 25 8062|/MIl  #H1 YU VAL 0:39:03 0:38:57




8.2kmEB -+ 26 8085| HE Th 19T 0:39:21 0:39:15
8.2kmEB -+ 27 8086k #H— TINE Va/4F 0:39:50 0:39:43
8.2kmEB -+ 28 8070(Rk Lk =3 LUVAESS 0:40:23 0:40:19
8.2kmEB -+ 29 8087[FK 1BXK yIZ 194 0:41:08 0:41:01
8.2kmEB -+ 30 80401EH MR R TRE AVRCHBE 0:41:24 0:41:20
8.2kmEB -+ 31 8017|=h B NYPrES "FZXARC 0:42:23 0:42:19
8.2kmEB -+ 32 8076[MLEH % enk 0:42:34 0:42:29
8.2kmEBEF 33 8056|HH &= e gy 0:43:24 0:43:17
8.2kmEB -+ 34 8034|#  Ftb I At B HRL X b 0:44:52 0:44:47
8.2kmEB -+ 35 8057|E F5 k7 shy 0:47:11 0:47:03
8.2kmEB -+ 36 8065|ZRE 214 #4bm bokn 0:48:11 0:48:04
8.2kmE%B ¥ 37 8051|A K*h hEd 2 AR 0:49:45 0:49:39




